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B0 1085 & R ATE HFL L p

150 | fefFdmie | 402 |[Bwl | B3| 27 |fRfFhmi| i Pul (i) 35 | mi| i | el | B3| 451 | RESRS vt e
1 A001  [SEO#%| & 1 A025 Ok | 5B 1 A9 |HOE| B 1 A073 BOH B
2 A002 | ZEOMA| 5 2 A6 | BFOX | B 2 A0SO | FOE| B 2 AQ74 ROR %
3 A003  |FEO1E| B 3 A027 fOX | B 3 A0Sl | ZOFE| & 3 AQ75 RO B
4 A004 | SEO5A| B 4 A028 vOF | B 4 A052 [CTOR|[ B 4 A076 FOF B
5 A005 | RO & 5 A029 | JTO | B 5 A0S3 [ ZOF| B 5 A077 RO $ B
6 AQ06 | ZORE| 5 6 A030 | O | B 6 A054 | O 5B 6 A078 HOE %5
7 A007  [$EOR| & 7 A031 HOR | B 7 A055 | RO | & 7 AQ079 FHOR %
8 A008  [7BO$%| B 8 A032 | OE | B 8 A056 | #ROEE| 5 8 A080 2IOZ% %
9 A009  |FIOR]| B 9 A033 BHOZE | 5 9 A057 | 5RO | & 9 A081 EOHF B
10 A010  [7BOEN| B 10 AQ34 BOM | B 10 | A0S8 |BOE| B 10 A082 HOBK %5
11 A0ll  |ROE|[ & 11 A035 BO | 3B 11 | A059 | ZO#I| & 11 A083 FZ O %
12 A012  |BEOZE| B 12 A036 | BIOE | & 12 | A060 | MO | % 12 A084 B Ok =
13 A013  |HEOE| % 13 A037 ZIOx | & 13 | A0l | #HOE| % 13 A085 O X =
14 A014 |BROIL| % 14 A038 | OB | % 14 | A062 |#EOZE| « 14 A086 TO= =
15 A0IS | ROEE| & 15 A039 | BOH | % 15 | A063 | RO%E| %« 15 A087 HOE =
16 A016 | BEOME| 2« 16 A040 | RO | & 16 | A4 | HOFE| %« 16 A088 035 =
17 A017 | MO & 17 A041 ZOB | & 17 | A065 | BFO¥E | Z 17 A089 = O =
18 A018 | $EOM| %z 18 A042 WO | 2 18 | A066 |50 | % 18 A090 EORE =
19 A019  [BEOMI| % 19 A043 SO | & 19 | A067 | MOE| %« 19 A091 BEO%E =
20 A020 |BRO#E| %« 20 A044 BOM | & 20 | A068 [EOHE| % 20 A092 FHO=E L
21 A1 |BROE| % 21 A045 RO | & 21 | A069 [CROBE| % 21 A093 ZI0% 2z
2 A022  [HOH| % 22 A046 | EOE | & 22 | A0T0 | FOE| & 22 A094 =0OR 2z
23 A023 | EHOHE| % 23 A047 vORB | & 23 | A071 | #®OE| & 23 A095 Mg O 4 2z
24 A024 |20 % 24 A048 FEO#S | % 24 | A072 [#OBE| %«




